A

Horizontal rotary clamp cylinder——QDK Series

Compendium of QDK Series

Horizontal rotary construct

Complete rotation on the horizontal plane,
so the rotation stroke is zero.

Clamp armis available——®

Consultus for details

—— Two kinds of mounting type

Boss front end cap

Flush front end cap

&—— Stability acting

g 2 Double pins in the rotation guide groove
9 ] pi to increase stability
12 >
==N Gl
%) X
O T b
B
o
R2 ﬁ
1}
c

Criteria for selection: Cylinder thrust

Unit: Newton(N)

Magnetic switch slots around the cylinder body

There are magnetic switch slots around the cylinder
body convenient to install inducting switch.

Installation and application A

1. Dirty substances in the pipe must be eliminated before cylinder is connected

N " with pipeline to prevent the entrance of impurities into the cylinder.
3?;: sRiZ: At‘;t")';g o1 T2 Op:rgatmog:resos:re(:n:a)o ~Tos 2. The medium used by cylinder shall be filtered to 40um or below.

- - - i i i - - 3. Anti-freezing measure shall be adopted under low temperature environment to
20 | 12 |IN(Clamp)| - |20.1|40.2|60.3 | 80.4 (100.5/120.6|140.7 prevent moisture freezing.
25 | 12 [IN(Clamp)| 17.7 | 55.5 | 93.3 [131.1|168.9|206.7|244.5|282.3 4. Ifthe cylindeLis disfmantIAed adnd stored forilﬂnbgtirgg,glease clondm;tantli-rust

treatment to the surface. Anti-dust jam cap shall be added in air inlet and outlet ports.

32 | 12 |IN(Clamp) 43.1 | 111.2|181.3|250.4|319.5|388.6|457.7|526.8 5 15 ingyre the life-span of cylinder and jig, please use flow control
40 16 |IN(Clamp)| 75.2 |180.7|286.2|391.7|497.2|602.7708.2(813.7 valve to control the speed of cylinder.

The definition of rotation direction and angle

Inlet port

When rod pushed out

\

N\
)

(

©=
B

When rod pushed out

Levorotatory(QDKL):

When the piston of cylinder moves
downward, the swivel arms moves
anticlockwise, this is called levorotatory.

Dextrorotary(QDKR):

When the piston of cylinder moves
downward, the swivel arms moves
clockwise. this is called dextrorotary.

90°+3°

QDKL
Clamping turn left

O—

o

o

QDKR
Clamping turn right

\:C/go

Retracted stroke end(Clamp)

The order codeis L

> £ > 2
Sl o &l o
S| o T =
3= I s
Olw» ol®w
—| C —|
fuiel se
5| 5]
N|o N|'o
= | 2 =8
o|lo olo
vz Iz
Clamp

! o
£ 3
:
2 2
£ €
© i
o (&)

The order codeis R




Horizontal rotary clamp cylinder

AIl'TAL

QDK Series

Specification

Bore size(mm)

20 | 25 [ 32 [ 40

- =~ Acting type Double acting
— “‘K\r.‘)"_- | 3 Fluid Air(to be filtered by 40um filter element)
i ‘; 9 Operating pressure 0.15~1.0MPa(22~145psi)
" Proof pressure 1.5MPa(220psi)
Temperature -20~70°C
i3 : ] Rotation angle 90°
g5 m Repeatability +2°
£ Rotation direction Turn left or turn right
% Rotation stroke(mm) 0(Horizontal rotary)
’l I ﬂ Clamping stroke (mm) 5
Cushion type Bumper
Port size M5x0.8 [ 1/8"
Add) please refer to Page 362 for the specific content of sensor switch.
Symbol Product feature
I
I~ 1. Complete rotation on horizontal plane, so save more space compare with QCK series.

2. Boss front end cap and flush front end cap are available.
3. Double pins in the rotation guide groove to increase stability.
4. There are magnetic switch slots around the cylinder body convenient to install inducting

switch.
Ordering code
QDK L 32x5 S U ©o
Jo Il
1 (2)(3)(4)(5)(6) ?

@ Model @ Rotation direction | ® Bore size @ Clamping stroke | ® Magnet ®Front cover type @ Thread type [Note1]
QDK: Horizontal rotary | L: Push and turn left X W Blank: Boss front end cap | Blank: PT
clamp cylinder R:Push and turnright 20 2532 40 | 5:5mm S: With magnet U: Flush front end cap G: G

[Note1] When the thread is standard, the code is blank.

How to select product

1. When arms are to be made separately, their length and weight should be within the following range.
2. Allowable bending moment:
Use the arm length and operating pressure within graph(1)
for allowable bending moment loaded piston rod.

3. Moment of inertia:
When the arm is long and heavy, damage of internal parts
may be caused due to inertia. Use the inertia moment and

Graph(1) cylinder speed within graph(2) based on arm requirments.
|
2000 — —|— T —T T T T T . Graph(2)
|QDK3; ,40****’7* - — e 19 ——1 L—t Example: When arm’s moment of inertia
1006&2—-5-}———}— Lttt H is 10°Kg-m’, cylinder
80 H speed should be less than
60— 1 T o H QDK20/25:65.5mm/s
—~ Bl N
E 4ol 1 1 IS H QDK32/40:120mm/s
£ I \& ~ H Note) The average speed of piston=
£ T T T A T Ti T 17 71T € H the highest speed of piston/1.6
= | Operating range o H
3 20— e = i
£ I £ i
< | o a
___!'_'!___F_'\__'!_'__!__'!__ _‘—f B
0.1 0.2 0.40.45 0.6 1.0 s H
Operating pressure ( Mpa) 0.55 § ]

Example: When arm length is 80mm, pressure should be
less than
QDK20/25:0.45MPa
QDK32/40:0.55MPa
4. Moment of inertia of cylinder's arm when rotating based on
its rotary axis. Please refer page322 for details.

A

Cylinder speed (mm/s)




Horizontal rotary clamp cylinder Ail'TALC
QDK Series

Innerstructure and material of major parts

QDK(Boss front end cap) NO. Item Material NO. Item Material
1 Body Aluminum alloy 13 Fixing screw Carbon steel
2 Back cover Aluminum alloy 14 O-ring NBR
3 | Magnet holder Aluminum alloy 15 C clip Spring steel
4 'Magnetwasher NBR 16 Middle seat SCr440
7 Sintered metal 17 Pin SuJ2
% 5 Magnet (Neodymium-iron-boron | 18 Spring Stainless steel
6 O-ring NBR 19 Rotary axis Scr440
6 7 Piston seal NBR 20 Stop flake Stainless steel
@ 8 Piston Aluminum alloy(®40)/brass(Other)| 21 C clip Spring steel
@ 9 Bumper TPU 22 Pin SuJ2
@ 10| Frontcover Aluminum alloy 23 |Front cover packing NBR
®7 11| Fixing screw Carbon steel 24 Piston rod Scr440
12 O-ring NBR 25 |Front cover packing NBR
Note: inner structure & material data sheet is based on certain bore size.
Please contact AirTAC if you need inner structure & material data sheet for specific bore size.

Dimensions
I
QDK(Boss front end cap) Bore sizelltem| A |AB|AC| B |[CA| D E EA
oA p 20 86.516.5| 60 | 34 | - | 12 | M6X1.0 | 12
L 8 25 86.5/16.5| 60 | 40 | - | 12 |M8X1.25| 12
B I 32 92 | 17 | 65 |445| 50 | 14 |M8X1.25| 12
5 _ 2 40 98 | 18 | 70 | 52 |58.5| 16 |M8X1.25| 12
Clamp stroke Boresizelltem| F |[FA| G | H | J |JA|JB K
a4 < B 5 20 10| 3 [42] 8 [ 73|45/ 24 | M5X0.8
e gjﬁ-_‘/ 2 25 10| 3 [52]10] 9 |55/ 28 | Mex1.0
32 10| 3 [52]10] 9 [55] 34 | Mex1.0
A ~ 40 10 | 3 | 68| 14 |105| 65 | 40 |M8X1.25
JA g JA Bore sizelltem| KA | M N P PA | PB
. . A ;0 1; 54 10 msio.s 311.5 ;
B AC 5 6 | - 5%0.8 | 3
32 17 | 28 | 12 | M5x08 |335| 7
A 40 20 | 30 | - PT1/8 | 35 | 9
QDK-U(Flush front end cap) 5 Bore sizelltem| A |/AC| B |[CA| D E EA| F
o -
oA P . 20 70 | 60 | 34 12 | M6X1.0 | 7.5 | 10
0JB 25 70 |60 | 40 | - | 12 |M8X125| 8 | 10
3 32 75 | 65 |44.5| 50 | 14 |M8X1.25| 10 | 10
5 \; \ 40 80 | 70 | 52 |58.5| 16 |M8X1.25| 10 | 10
Clamp stroke| ‘ \ Bore sizelltem| FA | G H J | JA|JB K KA
S - ==
afes % .,w O < @\ = 20 3 |42 8 | 73|45 24 | M5X0.8 | 14
B ¥ e 9 82 G 25 3 [52]10] 9 |55 28 | Mex1.0 | 17
AL . © N/ 32 3 |52[10| 9 |55 34 | Mex1.0 | 17
< 40 3 | 6.8 | 14 |105| 65 | 40 |M8X1.25| 20
: Bore sizelltem| N P PA | PB
JA o .
& JA E Dp:EA 20 10 | M5X08 |315| 7
KA, KA 25 - | mMsx08 | 31 | 7
F AC 32 12 | M5X0.8 | 335 7
A 40 - PT1/8 | 35 | 9
Installation and operation
1.Please follow the diagram below on right side to assemble/disassemble the rocker ~ Allen wrench

by spanner and allen wrench; don't hold the body to assemble/disassemble rocker,
or will damage the cylinder.

V4 317



